
CÓDIGO PIEZAS

5800A 16 1 13 2 1

JUEGO DE DADOS 
Y ACCESORIOS 
EN PULGADAS .



Nº CÓDIGO DESCRIPCIÓN

1 1/4" 5740 Dado 12 puntas 1 1/4"

1 3/8" 5744 Dado 12 puntas 1 3/8"

1 1/2" 5748 Dado 12 puntas 1 1/2"

1 5/8" 5752 Dado 12 puntas 1 5/8"

1 7/8" 5760 Dado 12 puntas 1 7/8"

2" 5764 Dado 12 puntas 2"

Nº CÓDIGO DESCRIPCIÓN

2 1/8" 5768 Dado 12 puntas 2 1/8"

2 1/4" 5772 Dado 12 puntas 2 1/4"

2 1/2" 5780 Dado 12 puntas 2 1/2"

2 5/8" 5784 Dado 12 puntas 2 5/8"

2 3/4" 5788 Dado 12 puntas 2 3/4"

3" 5796 Dado 12 puntas 3"

Nº CÓDIGO DESCRIPCIÓN

3 1/2" 5812 Dado 12 puntas 3 1/2"

1"X 26" 5849 Matraca reversible cromada, 1"

1"X 30" 5886 Mango en L cromado, 1"

CONTENIDO


